九十五學年度第一學期 線性代數 小考一 (§1.1 ~ §2.2) (A卷) (請勿使用計算機或計算紙)
班級：                   學號：                    姓名：                   

1. (10%) 翻譯下列句子：Let the number of columns in a matrix A be the same as the number of rows in a matrix B. The product AB then exists.
Ans: 令A矩陣的行數等於B矩陣的列數，則AB乘積存在。
2. (10%) Determine the resulting matrix and the elementary row operations should be used. 
(填寫所需的列運算及矩陣缺的值即可，不必繼續做下一步)
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3. (15%) Find the reduced echelon form of the following matrix. (此題無聯立方程式)
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4. (20%) Solve the following systems by Gauss-Jordan elimination. 
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 ( Let x3 = r , the general solution is 
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5. (15%) Solve the following system by Gauss-Jordan elimination. 
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  ( No solutions.
6.  (10%) Let 
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7. (10%) A square matrix A is said to be nilpotent if Ap= 0 for some positive integer p. The least integer p such that Ap= 0 is called the degree of nilpotency of the matrix. Determine a and b such that 
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8. (10%) Let A be a 5(2 matrix, B a 2(4 matrix, C a 4(3 matrix. Determine the number of scalar multiplications needed to compute the product A(BC).       54          (直接寫答案)  
      2(4(3+5(2(3=54
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_1224065294.unknown

_1224065959.unknown

_1224066260.unknown

_1224066507.unknown

_1224066647.unknown

_1224066721.unknown

_1224066417.unknown

_1224066015.unknown

_1224066025.unknown

_1224066006.unknown

_1224065555.unknown

_1224065860.unknown

_1224065438.unknown

_1222119092.unknown

_1222120060.unknown

_1222120145.unknown

_1222119104.unknown

_1222116239.unknown

_1222116243.unknown

_1222118827.unknown

_1222116120.unknown

